Parts List .«..x:

B 1N FL 4

Model: JCS260DX IR—YYRr3—K 523614






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
P2 7 NG = D 3~ 4
S IV (ITUDT =R DUDE) e 5~38
7N AV QY b I 1V G 2 3 9 ~ 10
5. IV (FxTLA, BBIUD) e 11 ~ 14

(R R =17 TSN 15 ~ 16



1. JCS260DX
X K




RHEES | HaES B & {1 &% &
1-1 364001 | JCS260DX 1
1-2 222179 | T UMDY 993487 1 | 34774
1-3 222180 | TUNDYY 1
1-4 216924 | Tty 1
1-5 215779 | W' 4huebs 1
1-6 214365 | Y IAUMNAT 9347 1 |78744
1-7 087786 | 6 K97+ VFFK Wb 2 | M5x25
1-8 012487 | t7%'h'# 1 | M5
1-9 228089 | ¥ ¥hr—-R49347 1 |10~ 16744
1-10 234247 | 6 hOf Wb 1 | M8X8
1-11 092550 | 6 HYK Lk (+)SW 1 | M5x25-7T
1-12 212986 | NE/KR A 1
1-13 219195 | nE/K'AB 1
1-14 215610 | 6 h4H Wb WSW 1 | M8x22 t4)
1-15 222128 | ¥¥IFEIUNY 1
1-16 222129 | 4YE' VY 1 | 5x20
1-17 089737 | 6 h9H Wb (+ 777 EYH) 1 | M5x12
1-18 211736 | £v44=%") B 1
1-19 211737 | NN 2
1-20 233251 | ARYRMLLA'— 1
1-21 226067 | ARYRLTIAY 1
1-22 216803 | AV —b1-7 1
1-23 220549 | F1943—9 1
1-24 233918 | #—L7°L—b 1 | JCS260DX
1-25 220036 | 739347 1 |26~ 287494
1-26 220037 | 74vM 1
1-27 011338 | O Y%’ 1 | P18
1-28 220041 | 41U+ b 1
1-29 220202 | 93VF—AH34T 1 |30~ 34744
1-30 220203 | 47YFH—AVIS 1
1-31 217659 | ATYYY 1
1-32 055186 | C h'4kin 1 |S12
1-33 016732 | C h'4hAD 1 | #32
1-34 220052 | #79FNFLVMH 1
1-35 817002 | 6 h4H Wb (+)WSW 4 | M5x20
1-36 222821 | ¥ A9AVAN-H34T 1 | 37,38 794
1-37 212994 | AN =250ty 1
1-38 092561 | 6 hYF Wb (+)SW 2 | M5x25 77"V}
1-39 224693 | ¥Y7—- 10 1
1-40 231654 | NJI—=4 1 | ECO




2.JCS260DX

X K (BFE®




RHEES | HaES B & & &% &
2-1 225100 | E#A479704 1

2-2 227540 | 4=V7'79b 1

2-3 227552 | ATV -2 1

2-4 220619 | A7YUY 1 | #6001UU
2-5 092578 | 6 H9K Lk (+)SW 3 | M5x10
2-6 220212 | &9YUT A 3

2-7 219959 | ¥\ %YW 2VEFUb 3 | M6
2-8 227550 | AMYN 1

2-9 219959 | #7312 N RYEFUE 3 | M6
2-10 221669 | ¥7T 1

-11 227562 | #%IhTY° B 2

-12 092580 | 6 KUK LI (+)WSW 4 | M5x12
- 225115 | ¥A4N IR A 1

- 222059 | &YV NN VST 1 | 1516 794
- 126993 | 6 hHFYk 4 | M5

2- 222142 | TA IRV (HW 4 | M5x28
2- 084020 | 4% 6 KTk 1 | M12x1.25
2- 210400 | LN YN TIPS 1

2-1 222173 | AT— 1




3.JCS260DX T ov
ek ay S




RHES | BHRAES B & FR B % i
3-1 859086 | IVY'Y 1 | CE260/17
3-2 283734 | Y)u& 1
3-3 283783 | H'AFYb 1
3-4 261250 | 6 H97 Y%K ILF WSW 4 | M5x20
3-5 269144 | 41UY1L—4 1
3-6 267049 | B AFYb 1
3-7 269826 | TAIRY ()WSW 2 | M5x25WSW #v4
3-8 288033 | ¥757tV77Y 1 [9~12744
3-9 282209 | ¥v773v7-b 1
3-10 287254 | B AN 1

-11 268171 | 74l 1
-12 265107 | 6 h97+HV%770Y K bk 2 | M4x10
- 284071 | L4 1
- 283940 | B AHFYb 1
- 266402 | %Y1 2 | M5x55
3-1 281435 | 78 —hn'— 1
3- 269827 | A1y (+)WSW 1
3- 286707 | M7hin =TtV 1 |19 ~227494
3- 281434 | F7°hiN— 1
3-2 286300 | J7°YhA 1
3-21 261020 | AN—# 1
3-22 261734 | 5')Y7° MY 1
3-23 289582 | #7092 1
3-24 280488 | ATYUY 2 | PPL 6001
3-25 261492 | #4LY—I 1
3-26 261386 | A4ILY— 1
3-27 055185 | C h'4ki0 1 | 7F39 28
3-28 261612 | 6 h97 Y%K ILF WSW 3 | M5x30
3-29 281442 | 29—y 1
3-30 268247 | E'ARY 1
3-31 261496 | E'AMUY 2
3-32 261497 | E'AMEY 1
3-33 261037 | =—FAATYLY 1
3-34 261576 | #—49Yv7" 2
3-35 265197 | ¥¥7bh3v77)—F 1
3-36 264503 | 479F7tU77) 1 | 37,38 794
3-37 264504 | 459Fv1 2
3-38 263614 | EYNYILN % 1
3-39 264505 | ILb 2
3-40 261189 | 3% H'% 2 | 6x16.5xT1.2
3-41 261777 | 9I-7"79v% 2
3-42 281433 | 77Uhn— 1
3-43 269831 | A1y (+)WSW 4 | M5x20WSW
3-44 283729 | ¥4 2TV 1 | 45 ~ 53 744
3-45 268253 | 0—4 1




3.JCS260DX T ov
ek aey S




RHEES | HaES B & 7 &% & =
3-46 283705 | 19 =9Y3Ava(NTEYTY 1 |47 ~ 53744
3-47 283730 | 14l 1
3-48 261072 | ¥¥v7° 1
3-49 283731 | ¥1-7° 1
3-50 283732 | 3-N7tV77) 1 |51 ~53744
3-51 283733 | 21—V 1
3-52 261075 | 794 1
3-53 261074 | 7'39°%vv7’ 1
3-54 261076 | nur Y- 1
3-55 261417 | #5390 %9%F+9b 1 | M8
3-56 280381 | AA—14 2
3-57 261256 | 6 W97 Y%K Lk WSW 2 | M4x25
3-58 286739 | AN=97°3Y 1 | CJBY
3-59 288065 | J—F 1 | 215 t7 HCBH
3-60 282087 | -V 1
3-61 269189 | ¥’ OAYk 1
3-62 264588 | 4707 1
3-63 269705 | 3NN 1
3-64 269824 | 3N 1




4.JCS260DX I>Pv
JaAIILRA—A




RHEES | HaES B & 1 &% & =
4-1 283476 | JAAWARI-4T 1T 1 [2~12744

4-2 283477 | A4—471V77 1 | 3~117494

4-3 283504 | -l 1

4-4 283505 | hA7'L—b 1

4-5 283506 | 4VNRT WY 1

4-6 280931 | ANATNAT YUY 1

4-7 267213 | YRS 1

4-8 283578 | A-7°7tU7Y) 1 [9~117494

4-9 283579 | A4—40-7° 1

4-10 261725 | A4—4)7° 1

4-11 283511 | A=7°AMUN 1

4- 283575 | A4—47°-TtU7") 1

4- 286284 | 747747tV 77 1

4- 265726 | 6 hHT7FYEK ILE WSW 4 | M4x16

4- 283391 | A%Y1 2 | M4x20

4-16 282096 | A49Y1 1 | M4x16

4-17 289238 | 38 1 | RA4—} /JCS260DX

-10-




>
Z

5.JCS260DX I ¥
FrILE, A5

-11-



RHEES | HaES B & {1 &% & =
5-1 288069 | ¥Y7L47tV77) 1 [2~18744
5-2 264155 | §V7KT4 1
5-3 262991 | N—=VK TS 1
5-4 262992 | KVU7hn - 1
5-5 261874 | 7347 1
5-6 283905 | #'4¥77L 1
5-7 262993 | K ATYH 1
5-8 262994 | 4'4%77L 1
5-9 282576 | h'A4Yb 1
5-10 261876 | vy 1
5-11 261658 | A4~ 1
5-12 261875 | A%Y1 2
5— 264677 | 773Uk 1
5— 261657 | Nty 1
5-1 262996 | A%Y1 4
5— 264678 | 7YvY 1
5— 261878 | FYb 1
5— 263994 | A%Ya 1
5— 284579 | 3N 1 | F3-9 A1 14
5- 269762 | h'ArYb 1
5-21 268055 | T—A7tY7) 1 |22~ 25744
5-22 268056 | H—Rik'T4 1
5-23 268057 | NIV 1
5-24 268157 | AY-7" 1 | 5.5x7.1x6
5-25 268412 | RY-7" 1 | 5.2x7.1x6.4
5-26 263345 | NYEY 1
5-27 263942 | E3Y N % 1
5-28 263815 | AT— 1
5-29 269834 | TAIRY ()WSW 2 | M5x60WSW
5-30 265026 | A%Y-v 1
5-31 265027 | ILAVH 1
5-32 268058 | An—=7tU77) 1 |33~3574L
5-33 268059 | #Y—Fhn'— 1
5-34 281438 | )7 1
5-35 261734 | 597 b7 1
5-36 288053 | 4vHT7tU77 1 |37 ~ 47744
5-37 286304 | 71—-I)L4V) 1
5-38 281565 | 4v9%YV77€077) 1 397244
5-39 269377 | "Ry 1
5-40 282538 | 71—-IANATTtUT) 1 |41 ~ 47754
5-41 282539 | NATTEYTY 1 | 42 ~ 45751
5-42 268065 | #'OAYb 1
5-43 261690 | #3AUNA7 1 | 160L
5-44 261590 | 744779347 1
5-45 261117 | 997’ 1

-12-




>
Z

5.JCS260DX I ¥
FrILE, A5

-13-



RHE®EE | A B & 5 R 1
5-46 264653 | 74MATHEVTY) 1
5-47 261117 | Hyw7’ 1
5-48 261117 | 997’ 1
5-49 288081 | 7°779bav77)—+ 1
5-50 269831 | FA'1RY (H)WSW 2 | M5x20WSW
5-51 288058 | FA 14y (H)WSW 2 | M5X20

-14-




6. JCS260DX
T & M

oLl

-15-



HaEs B M B W B

221460 | K3 A% 1

220534 | hYnhin— 1

210418 | AVEKRIRANT 1

022865 | YIAVYFANT 1 | 8x10
219431 | 6 h9KHANT 1 [ ZAunn 3
219432 | 6 hORIANT 1 | ZAunn 4
211337 | ' )AF1-7 I 1

220548 | N'UN 2

233922 | M)7Yh{EV Y3 1 | JCS260DX

-16-




& X

Q = U LRETR
BHEHRBEXRZEO

fLyR—-pEL42—: EE 0120-898-114
ZFIFRERS: AM9:00~PN5:00(X. B. 1A 2 <)

EIEREET Printed in japan 2013-04.J




